


THOUGHT OF THE DAY



STUDENT’S CORNER



UPBEAT

(ADJECTIVE): (उत्साहित): optimistic

Synonyms: cheerful, cheery

Antonyms: pessimistic

Example Sentence: He was upbeat about

the company's future.

WORD OF THE DAY



WORD OF THE DAY IMAGE



WORD SWAP

Four words are given in bold in each of the

questions given below. These four words may or

may not be in their correct position. The sentence is

then followed by options with the right combination

of words that should replace each other to make the

sentence grammatically and contextually correct.

Find a suitable variety of terms that replace each

other. If the sentence is correct as it is, select
option – (e) as your choice:



1. In pursuit(A) of novel ways to draw

caught(B) to the Big Prize, the Academy(C)

seems to have been attention (D) on the

wrong foot again.

(a) A-B

(b) A-C

(c) B-D

(d) C-B

(e) The sentence is correct
Ans. Option – (c) B-D 



2. The IMF followed(A) the World Bank in

reducing(B) its forecast for India’s

economic(C) growth in the current

financial(D) year.

(a) A-B

(b) A-C

(c) B-D

(d) C-D

(e) The sentence is correct
Option – (e)



3. Today, thermal accounts (A) capacity

generation (B) for about two-thirds of the

installed(C) generation capacity(D) in the

country.

(a) A-B

(b) A-C

(c) B-D

(d) C-D

(e) The sentence is correct
Option – (a)



4. The Air Quality Index of Delhi worsened(A)

slightly and expected (B) in the “poor” category

and is stayed (C) to further deteriorate(D) from

the last week of the month.

(a) A-B

(b) A-C

(c) B-C

(d) C-D

(e) The sentence is correct

Option – (c)



5. With power (A) growth, the demand(B)

for economic (C) in India is only going to

increase(D) further.

(a) A-B

(b) A-C

(c) B-D

(d) C-D

(e) The sentence is correct

Option – (b)



ERROR DETECTION



1. Sushil was enough kind (1)/ to inform us

about the (2)/conspiracy but declined to (3)/

name the person behind it.(4)/ No error (5)

(1)Replace  'Sushil was enough kind’ with ‘Sushil was 

kind enough'



2. All of the students (1) Are kindly requested

(2)/to enclose a stamped envelope (3) in

the form for reply. (4) No error (5)

(2) Kindly requested, ' की जगि 'requested' िोगा, क्योंहक

kindly

और requested to का प्रयोग एक साथ निीं हकया जाता िै।



3. Not a single scooter was (1) Available with

any of the dealers (2) as all the scooters

(3)were complete sold. (4) No error(5)

(2) ‘Were complete sold’ की जगि Were 

completely sold' िोगा



4. Though his actions were (1)severe criticized

(2)/ he did not lose his temper (3)/and dealt

with the matter in a gentle way.(4)/No error

/(5)

(2) 'severe criticized की जगि ‘severely

criticised’ िोगा, क्योंहक, criticised(Past

Participle) को Modifify करने के हिए Adjective

(severe) का निीं, बहकक Adverb (severely) का

प्रयोग िोगा।



5. Hardly I had stepped (1)/Out of my house

when (2)/I saw some police man

(3)/coming towards my house. (4)/ No

error(5)

(1) ‘Hardly I had stepped’  की जगि ‘Hardly had I stepped’ 

िोगा ।



6. All Banks (1) necessary keep a certain (2)/

percentage of deposits (3) / with the Reserve

Bank. (4) / No error (5)

(2) necessary को जगि necessarily िोगा।



7. Bhutan is a beautiful (1)/ country which

almost (2)/ eighty percent of the (3)/

population lives in villages. (4)/ No error

(5).

(2) ‘which’ की जगि ‘where’ िोगा।



8. To know what people react to (1) / an

unforeseen situation(2)/ is very important (3)

/ to decide your course of action. (4) No error

(5)

(1) ‘To know what people react to ' की

जगि To know how people react' िोगा



9. Seema's new office is close (1) to her

residence so (2)/ she will not longer (3)/

have to travel by train. (4)/ No error (5)

(3) ‘She will not longer’ की जगि ‘She will 

no longer िोगा ।हिये गये वाक्य में ‘Longer 

adjective’ को qualify करने के हिए

Adverb 'no' का प्रयोग िोगा ।



10. Since this foreign bank has (1)/ not

performed very good this year (2)/ it will not

be setting (3)/ up any new branches. (4)/No

error (5)

(2) ‘Good’ adjective की जगि ‘well’ 

adverb’ िोगा ।



a) Hopefully, this last order of the apex court / b)

will help in bringing a speedy closure to the case /

c) and sound out politicians and bureaucrats / d)

against interfering in CBI investigations. / e) No

error

HOME WORK



Modern (a) farm implements (b)

have revolusionised (c) the

agricultural industry. (d) All

correct (e)

Revolutionized




